

Positive Solutions for Nonlinear Semipositone n th-Order Boundary Value Problems

Dapeng Xie^{a,b}, Chuanzhi Bai^{b,*}, Yang Liu^{a,b}, Chunli Wang^{a,b}

^a Department of Mathematics, Yanbian University, Yanji, Jilin 133002, P R China

^b Department of Mathematics, Huaiyin Teachers College, Huaian, Jiangsu 223300, P R China

Abstract

In this paper, we investigate the existence of positive solutions for a class of nonlinear semipositone n th-order boundary value problems. Our approach relies on the Krasnosel'skii fixed point theorem. The result of this paper complement and extend previously known result.

Keywords: Boundary value problem; Positive solution; Semipositone; Fixed point.

1. Introduction

The BVPs for nonlinear higher-order differential equations arise in a variety of areas of applied mathematics, physics, and variational problems of control theory. Many authors have discussed the existence of solutions of higher-order BVPs, see for example [1-4, 6-7, 9-10], and the references therein.

In this paper, we study the existence of positive solutions of n th-order boundary value problem

$$\begin{cases} u^{(n)}(t) + \lambda f(t, u(t)) = 0, & 0 < t < 1, \\ u(0) = h\left(\int_0^1 u(t) d\zeta(t)\right), & u'(0) = 0, \dots, u^{(n-2)}(0) = 0, \quad u(1) = g\left(\int_0^1 u(t) d\theta(t)\right), \end{cases} \quad (1.1)$$

where $n \geq 3$, λ is a positive parameter, $\int_0^1 u(t) d\zeta(t)$, $\int_0^1 u(t) d\theta(t)$ denote the Riemann-Stieltjes integrals, we assume that

(B₁) ζ, θ are increasing nonconstant functions defined on $[0, 1]$ with $\zeta(0) = \theta(0) = 0$;

(B₂) there exists $M > 0$ such that $f : [0, 1] \times [0, +\infty) \rightarrow [-M, +\infty)$ is continuous;

*E-mail address: czbai8@sohu.com

(B₃) $h, g : [0, +\infty) \rightarrow [0, +\infty)$ are continuous and nondecreasing.

We note that our nonlinearity f may take negative values. Problems of this type are referred to as semipositone problems in the literature. To the best of the authors knowledge, no one has studied the existence of positive solutions for BVP (1.1).

In special case, the boundary value problems (1.1) reduces a four-point or three-point boundary value problems by applying the following well-known property of the Riemann-Stieltjes integral.

Lemma 1.1 [5]. Assume that

(1) $u(t)$ is a bounded function value on $[a, b]$, i.e., there exist $c, C \in \mathbb{R}$ such that $c \leq u(t) \leq C, \forall t \in [a, b]$;

(2) $\zeta(t), \theta(t)$ are increasing on $[a, b]$;

(3) The Riemann-Stieltjes integrals $\int_a^b u(t)d\theta(t)$ and $\int_a^b u(t)d\zeta(t)$ exist.

Then there exist $v_1, v_2 \in \mathbb{R}$ with $c \leq v_1, v_2 \leq C$ such that

$$\int_a^b u(t)d\theta(t) = v_1(\theta(b) - \theta(a)), \quad \int_a^b u(t)d\zeta(t) = v_2(\zeta(b) - \zeta(a)).$$

For any continuous solution $u(t)$ of (1.1), by Lemma 1.1, there exist $\xi, \eta \in (0, 1)$ such that

$$\int_0^1 u(t)d\zeta(t) = u(\xi)(\zeta(1) - \zeta(0)) = u(\xi)\zeta(1),$$

$$\int_0^1 u(t)d\theta(t) = u(\eta)(\theta(1) - \theta(0)) = u(\eta)\theta(1).$$

If $h(t) = g(t) = t, t \in [0, +\infty)$, we take $\alpha = \zeta(1), \beta = \theta(1)$, then BVP (1.1) can be rewritten as the following n th-order four-point boundary value problem

$$\begin{cases} u^{(n)}(t) + \lambda f(t, u(t)) = 0, & 0 < t < 1, \\ u(0) = \alpha u(\xi), \quad u'(0) = 0, \dots, u^{(n-2)}(0) = 0, & u(1) = \beta u(\eta), \end{cases} \quad (1.2)$$

If $h(t) = 0, t \in [0, +\infty)$ and $g(t) = t, t \in [0, +\infty)$, we take $\beta = \theta(1)$, then BVP (1.1) reduces to the following n th-order three-point boundary value problem

$$\begin{cases} u^{(n)}(t) + \lambda f(t, u(t)) = 0, & 0 < t < 1, \\ u(0) = 0, \quad u'(0) = 0, \dots, u^{(n-2)}(0) = 0, & u(1) = \beta u(\eta), \end{cases} \quad (1.3)$$

For the case in which $\lambda = 1$ and $f(t, u(t)) = a(t)f(u(t))$. Eloe and Ahmad [6]

established the existence of one positive solution for BVPs (1.3) by applying the fixed point theorem on cones duo to Krasnosel'skii and Guo.

Motivated by [2] and [5], the purpose of this paper is to establish the existence of positive solutions for BVP (1.1) by using Krasnosel'skii fixed point theorem in cones.

The rest of the paper is organized as follows. In Section 2, we give some Lemmas. In Section 3, the main result of this paper for the existence of at least one positive solution of BVP (1.1) is established.

2. Lemmas

Lemma 2.1. *If $n \geq 2$ and $y(t) \in C[0, 1]$, then the boundary value problem*

$$\begin{cases} u^{(n)}(t) + y(t) = 0, & 0 < t < 1, \\ u(0) = h \left(\int_0^1 u(t) d\zeta(t) \right), & u'(0) = 0, \dots, u^{(n-2)}(0) = 0, & u(1) = g \left(\int_0^1 u(t) d\theta(t) \right), \end{cases} \quad (2.1)$$

has a unique solution

$$u(t) = \int_0^1 G(t, s)y(s)ds + t^{n-1}g \left(\int_0^1 u(s)d\theta(s) \right) + (1 - t^{n-1})h \left(\int_0^1 u(s)d\zeta(s) \right),$$

where

$$G(t, s) = \begin{cases} \frac{(1-s)^{n-1}t^{n-1} - (t-s)^{n-1}}{(n-1)!}, & 0 \leq s \leq t \leq 1, \\ \frac{(1-s)^{n-1}t^{n-1}}{(n-1)!}, & 0 \leq t \leq s \leq 1. \end{cases}$$

Proof. The proof follows by direct calculations, we omitted here.

Lemma 2.2. *$G(t, s)$ has the following properties*

(i) $0 \leq G(t, s) \leq k(s)$, $t, s \in [0, 1]$, where

$$k(s) = \frac{s(1-s)^{n-1}}{(n-2)!};$$

(ii) $G(t, s) \geq \gamma(t)k(s)$, $t, s \in [0, 1]$, where

$$\gamma(t) = \min \left\{ \frac{t^{n-1}}{n-1}, \frac{(1-t)t^{n-2}}{n-1} \right\} = \begin{cases} \frac{t^{n-1}}{n-1}, & 0 \leq t \leq \frac{1}{2}, \\ \frac{(1-t)t^{n-2}}{n-1}, & \frac{1}{2} \leq t \leq 1. \end{cases}$$

Proof. It is obvious that $G(t, s)$ is nonnegative. Moreover,

$$\begin{aligned}
G(t, s) &= \begin{cases} \frac{(t(1-s))^{n-1} - (t-s)^{n-1}}{(n-1)!}, & 0 \leq s \leq t \leq 1, \\ \frac{(1-s)^{n-1}t^{n-1}}{(n-1)!}, & 0 \leq t < s \leq 1 \end{cases} \\
&= \frac{1}{(n-1)!} \begin{cases} s(1-t)[(t(1-s))^{n-2} + (t(1-s))^{n-3}(t-s) + \dots \\ + (t(1-s))(t-s)^{n-3} + (t-s)^{n-2}], & 0 \leq s \leq t \leq 1, \\ (1-s)^{n-1}t^{n-1}, & 0 \leq t < s \leq 1 \end{cases} \\
&\leq \frac{1}{(n-1)!} \begin{cases} (n-1)s(1-s)^{n-1}, & 0 \leq s \leq t \leq 1, \\ (1-s)^{n-1}s^{n-1}, & 0 \leq t < s \leq 1 \end{cases} \\
&\leq \frac{s(1-s)^{n-1}}{(n-2)!} = k(s), \quad t, s \in [0, 1],
\end{aligned}$$

that is, (i) holds.

If $s = 0$ or $s = 1$, it is easy to know that (ii) holds. If $s \in (0, 1)$ and $t \in [0, 1]$, then we have

$$\begin{aligned}
\frac{G(t, s)}{k(s)} &= \begin{cases} \frac{(1-s)^{n-1}t^{n-1} - (t-s)^{n-1}}{(n-1)s(1-s)^{n-1}}, & s \leq t, \\ \frac{(1-s)^{n-1}t^{n-1}}{(n-1)s(1-s)^{n-1}}, & t < s \end{cases} \\
&= \begin{cases} \frac{s(1-t)[(t(1-s))^{n-2} + (t(1-s))^{n-3}(t-s) + \dots + (t-s)^{n-2}]}{(n-1)s(1-s)^{n-1}}, & s \leq t, \\ \frac{t^{n-1}}{(n-1)s}, & t < s \end{cases} \\
&\geq \begin{cases} \frac{s(1-t)t^{n-2}(1-s)^{n-2}}{(n-1)s(1-s)^{n-1}}, & s \leq t, \\ \frac{t^{n-1}}{(n-1)s}, & t < s \end{cases} \\
&\geq \begin{cases} \frac{(1-t)t^{n-2}}{t^{n-1}}, & s \leq t, \\ \frac{n-1}{n-1}, & t < s, \end{cases}
\end{aligned}$$

which implies that

$$\frac{G(t, s)}{k(s)} \geq \gamma(t), \quad \text{for } s \in (0, 1) \text{ and } t \in [0, 1].$$

Thus, (ii) holds.

Lemma 2.3 [8]. Let $E = (E, \|\cdot\|)$ be a Banach space and let $K \subset E$ be a cone in E . Assume Ω_1 and Ω_2 are open subsets of E with $0 \in \Omega_1$ and $\overline{\Omega_1} \subset \Omega_2$ and let

$A : K \cap (\overline{\Omega}_2 \setminus \Omega_1) \rightarrow K$ be a continuous and completely continuous. In addition, suppose either

- (1) $\|Au\| \leq \|u\|$, $u \in K \cap \partial\Omega_1$, and $\|Au\| \geq \|u\|$, $u \in K \cap \partial\Omega_2$, or
- (2) $\|Au\| \geq \|u\|$, $u \in K \cap \partial\Omega_1$, and $\|Au\| \leq \|u\|$, $u \in K \cap \partial\Omega_2$.

Then A has a fixed point in $K \cap (\overline{\Omega}_2 \setminus \Omega_1)$.

3. Main result

Let $E = C[0, 1]$ be the real Banach space with the maximum norm, and define the cone $P \subset E$ by

$$P = \{u \in E : u(t) \geq \gamma(t)\|u\|, \quad t \in [0, 1]\},$$

where $\gamma(t)$ is as in Lemma 2.2.

For convenience, let

$$\Omega_1 = \{u \in E : \|u\| < r_1\}, \quad \Omega_2 = \{u \in E : \|u\| < r_2\},$$

$$p(t) = \int_0^1 G(t, s)ds = \frac{t^{n-1}(1-t)}{n!}, \quad u_0(t) = \lambda M p(t), \quad 0 \leq t \leq 1, \quad (3.1)$$

$$C_1 = \int_0^1 k(s)ds, \quad C_2 = \int_\tau^{1-\tau} k(s)ds, \quad (3.2)$$

$$\gamma^* = \max_{0 \leq t \leq 1} \gamma(t) = \max \left\{ \frac{1}{(n-1)2^{n-1}}, \frac{(n-1)^{n-3}}{n^{n-1}} \right\}.$$

Theorem 3.1. Assume that (B_1) , (B_2) and (B_3) hold. Suppose the following conditions are satisfied:

(B_4) there exist $\phi, \psi \in C([0, \infty), [0, \infty))$ are nondecreasing functions with $\phi(u), \psi(u) > 0$ for $u > 0$, such that

$$f(t, u(t)) + M \leq \psi(u), \quad (t, u) \in [0, 1] \times [0, \infty), \quad (3.3)$$

$$f(t, u(t)) + M \geq \phi(u), \quad (t, u) \in [\tau, 1 - \tau] \times [0, \infty) \quad (\text{we choose and fix } \tau \in (0, \frac{1}{2})), \quad (3.4)$$

(B_5) there exist two positive numbers r_1, r_2 with $r_1 > \max\{r_2, g(r_1\theta(1)) + h(r_1\zeta(1))\}$ and $r_2 > \lambda M(n-1)/n!$ such that

$$\frac{r_2}{\phi(\varepsilon r_2 \tau^{n-1}/(n-1))} \leq \lambda \gamma^* C_2, \quad \frac{r_1 - g(r_1 \theta(1)) - h(r_1 \zeta(1))}{\psi(r_1)} \geq \lambda C_1, \quad (3.5)$$

here $\varepsilon > 0$ is any constant (choose and fix it) so that $1 - \lambda M(n-1)(1-\tau)/r_2 n! \geq \varepsilon$ (note ε exists since $r_2 > \lambda M(n-1)/n! > \lambda M(n-1)(1-\tau)/n!$) and C_1, C_2, γ^* are as in (3.2), respectively.

Then BVP (1.1) has at least one positive solution.

Proof. Consider the following boundary value problems

$$\begin{cases} u^n(t) + \lambda f^*(t, u(t) - u_0(t)) = 0, & 0 < t < 1, \\ u(0) = h^* \left(\int_0^1 (u(t) - u_0(t)) d\zeta(t) \right), & u'(0) = 0, \dots, u^{(n-2)}(0) = 0, \\ u(1) = g^* \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right), \end{cases} \quad (3.6)$$

where $u_0(t)$ is as in (3.1),

$$f^*(t, u(t) - u_0(t)) = \begin{cases} f(t, u(t) - u_0(t)) + M, & u(t) - u_0(t) \geq 0, \\ f(t, 0) + M, & u(t) - u_0(t) < 0, \end{cases} \quad (3.7)$$

$$g^* \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right) = \begin{cases} g \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right), & u(t) - u_0(t) \geq 0, \\ 0, & u(t) - u_0(t) < 0, \end{cases} \quad (3.8)$$

and

$$h^* \left(\int_0^1 (u(t) - u_0(t)) d\zeta(t) \right) = \begin{cases} h \left(\int_0^1 (u(t) - u_0(t)) d\zeta(t) \right), & u(t) - u_0(t) \geq 0, \\ 0, & u(t) - u_0(t) < 0. \end{cases} \quad (3.9)$$

By Lemma 2.1, this problem is equivalent to the integral equation

$$\begin{aligned} u(t) = & \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\ & + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \end{aligned}$$

We define the operator T as follows

$$\begin{aligned} (Tu)(t) = & \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\ & + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right). \end{aligned}$$

Next, we claim $T(P) \subset P$. In fact, for each $u \in P$, by view of Lemma 2.2 (i) and Condition (B₃), we obtain

$$\begin{aligned}
(Tu)(t) &= \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\
&\leq \lambda \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right),
\end{aligned}$$

which implies

$$\begin{aligned}
\|Tu\| &\leq \lambda \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right). \tag{3.10}
\end{aligned}$$

On the other hand, by (3.10) and Lemma 2.2 (ii), we have

$$\begin{aligned}
(Tu)(t) &= \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\
&\geq \lambda \gamma(t) \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + \frac{t^{n-1}}{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + (1-t)(1+t+\dots+t^{n-3}+t^{n-2}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\
&\geq \lambda \gamma(t) \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + \gamma(t) g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + (1-t)t^{n-2} h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\
&\geq \lambda \gamma(t) \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + \gamma(t) g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\
&\quad + \frac{(1-t)t^{n-2}}{n-1} h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\
&\geq \gamma(t) \left\{ \lambda \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \right.
\end{aligned}$$

$$\begin{aligned}
& +h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \Big\} \\
& \geq \gamma(t) \|Tu\|, \quad t \in [0, 1].
\end{aligned}$$

which implies that $T(P) \subset P$. Similar to the proof of Remark 2.1 [3], it is easy to prove that the operator $T : P \cap (\overline{\Omega}_1 \setminus \Omega_2) \rightarrow P$ is continuous and compact.

Let $u \in P \cap \partial\Omega_2$, then $\|u\| = r_2$ and $u(t) \geq \gamma(t)\|u\| = \gamma(t)r_2$ for $t \in [0, 1]$. Let ε, τ be as in the statement of Theorem 3.1. Thus, we have

$$\begin{aligned}
u(t) - u_0(t) &= u(t) - \lambda M p(t) \geq \frac{r_2 t^{n-1}}{n-1} - \frac{\lambda M t^{n-1}(1-t)}{n!} \\
&= \frac{r_2 t^{n-1}}{n-1} \left(1 - \frac{\lambda M(1-t)(n-1)}{n! r_2} \right) \geq \frac{r_2 t^{n-1}}{n-1} \left(1 - \frac{\lambda M(1-\tau)(n-1)}{n! r_2} \right) \\
&\geq \frac{\varepsilon r_2 \tau^{n-1}}{n-1}, \quad t \in \left[\tau, \frac{1}{2} \right],
\end{aligned} \tag{3.11}$$

and we get for $t \in [\frac{1}{2}, 1 - \tau]$ that

$$\begin{aligned}
u(t) - u_0(t) &= u(t) - \lambda M p(t) \geq \frac{r_2 t^{n-2}(1-t)}{n-1} - \frac{\lambda M t^{n-1}(1-t)}{n!} \\
&= \frac{r_2 t^{n-2}(1-t)}{n-1} \left(1 - \frac{\lambda M(n-1)t}{n! r_2} \right) \\
&\geq \frac{r_2 t^{n-2}(1-t)}{n-1} \left(1 - \frac{\lambda M(n-1)(1-\tau)}{n! r_2} \right) \\
&\geq \frac{\varepsilon r_2 \tau^{n-1}}{n-1}.
\end{aligned} \tag{3.12}$$

Clearly, from (3.11) and (3.12), we obtain

$$u(t) - u_0(t) \geq \frac{\varepsilon r_2 \tau^{n-1}}{n-1}, \quad t \in [\tau, 1 - \tau],$$

which yields

$$\begin{aligned}
f^*(t, u(t) - u_0(t)) &= f(t, u(t) - u_0(t)) + M \geq \phi(u(t) - u_0(t)) \\
&\geq \phi \left(\frac{\varepsilon r_2 \tau^{n-1}}{n-1} \right), \quad t \in [\tau, 1 - \tau].
\end{aligned} \tag{3.13}$$

By (3.5), (3.13) and Lemma 2.2 (ii), we get

$$\begin{aligned}
\|Tu\| &= \max_{0 \leq t \leq 1} \left\{ \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \right. \\
&\quad \left. + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \right\} \\
&\geq \lambda \max_{0 \leq t \leq 1} \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds \\
&\geq \lambda \max_{0 \leq t \leq 1} \gamma(t) \int_\tau^{1-\tau} k(s) f^*(s, u(s) - u_0(s)) ds \\
&\geq \lambda \max_{0 \leq t \leq 1} \gamma(t) \phi \left(\frac{\varepsilon r_2 \tau^{n-1}}{n-1} \right) \int_\tau^{1-\tau} k(s) ds \\
&= \lambda \gamma^* \phi \left(\frac{\varepsilon r_2 \tau^{n-1}}{n-1} \right) C_2 \\
&\geq r_2 = \|u\|.
\end{aligned}$$

Thus,

$$\|Tu\| \geq \|u\|, \quad u \in P \cap \partial\Omega_2. \quad (3.14)$$

On the other hand, let $u \in P \cap \partial\Omega_1$, so $\|u\| = r_1$, and $u(t) \geq \gamma(t)r_1$ for $t \in [0, 1]$.

Thus, in view of (3.3) and ψ, g are nondecreasing, for each $u \in P \cap \partial\Omega_1$, we have

$$\begin{aligned}
f^*(t, u(t) - u_0(t)) &= f(t, u(t) - u_0(t)) + M \leq \psi(u(t) - u_0(t)) \\
&\leq \psi(u(t)) \leq \varphi(r_1), \quad u(t) - u_0(t) \geq 0,
\end{aligned}$$

$$f^*(t, u(t) - u_0(t)) = f(t, 0) + M \leq \psi(0) \leq \psi(u(t)) \leq \psi(r_1), \quad u(t) - u_0(t) < 0,$$

$$\begin{aligned}
g^* \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right) &= g \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right) \leq g \left(\int_0^1 u(t) d\theta(t) \right) \\
&\leq g \left(\int_0^1 r_1 d\theta(t) \right) = g(r_1 \theta(1)), \quad u(t) - u_0(t) \geq 0,
\end{aligned}$$

and

$$g^* \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right) = 0 \leq g(r_1 \theta(1)), \quad u(t) - u_0(t) < 0,$$

which implies

$$f^*(t, u(t) - u_0(t)) \leq \psi(r_1), \quad g^* \left(\int_0^1 (u(t) - u_0(t)) d\theta(t) \right) \leq g(r_1 \theta(1)). \quad (3.15)$$

Similarly, we get

$$h^* \left(\int_0^1 (u(t) - u_0(t)) d\zeta(t) \right) \leq h(r_1 \zeta(1)). \quad (3.16)$$

Form (3.5), (3.15) and (3.16) and Lemma 2.2 (i), we obtain for $u \in P \cap \Omega_1$ that

$$\begin{aligned} \|Tu\| &= \max_{0 \leq t \leq 1} \left\{ \lambda \int_0^1 G(t, s) f^*(s, u(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \right. \\ &\quad \left. + (1 - t^{n-1}) h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \right\} \\ &\leq \lambda \int_0^1 k(s) f^*(s, u(s) - u_0(s)) ds + g^* \left(\int_0^1 (u(s) - u_0(s)) d\theta(s) \right) \\ &\quad + h^* \left(\int_0^1 (u(s) - u_0(s)) d\zeta(s) \right) \\ &\leq \lambda C_1 \psi(r_1) + g(r_1 \theta(1)) + h(r_1 \zeta(1)) \\ &\leq r_1 = \|u\|. \end{aligned}$$

Hence,

$$\|Tu\| \leq \|u\|, \quad u \in P \cap \partial\Omega_1. \quad (3.17)$$

Therefore, from (3.14), (3.17) and Lemma 2.3, it follows that T has at least one fixed point $u^* \in P \cap (\bar{\Omega}_1 \setminus \Omega_2)$ with $r_2 \leq \|u^*\| \leq r_1$. This implies that the BVP (3.6) has at least one solution $u^* \in P \cap (\bar{\Omega}_1 \setminus \Omega_2)$ satisfying $r_2 \leq \|u^*\| \leq r_1$.

Let $u_*(t) = u^*(t) - u_0(t)$ for $0 < t < 1$, then $r_2 \leq \|u_* + u_0\| \leq r_1$. This together with $r_2 > \frac{\lambda M(n-1)}{n!}$ yields

$$\begin{aligned} u_*(t) &= [u_*(t) + u_0(t)] - u_0(t) \geq \gamma(t) \|u_*(t) + u_0(t)\| - \lambda M p(t) \\ &= \begin{cases} \frac{t^{n-1}}{n-1} \|u_*(t) + u_0(t)\| - \frac{\lambda M t^{n-1}(1-t)}{n!}, & 0 < t \leq \frac{1}{2}, \\ \frac{t^{n-2}(1-t)}{n-1} \|u_*(t) + u_0(t)\| - \frac{\lambda M t^{n-1}(1-t)}{n!}, & \frac{1}{2} \leq t < 1, \end{cases} \\ &\geq \begin{cases} \frac{r_2 t^{n-1}}{n-1} - \frac{\lambda M t^{n-1}}{n!}, & 0 < t \leq \frac{1}{2}, \\ \frac{r_2 t^{n-2}(1-t)}{n-1} - \frac{\lambda M t^{n-1}(1-t)}{n!}, & \frac{1}{2} \leq t < 1, \end{cases} \\ &= \begin{cases} \frac{t^{n-1}}{n-1} \left(r_2 - \frac{\lambda M(n-1)}{n!} \right), & 0 < t \leq \frac{1}{2}, \\ \frac{t^{n-2}(1-t)}{n-1} \left(r_2 - \frac{\lambda M(n-1)}{n!} \right), & \frac{1}{2} \leq t < 1 \end{cases} \end{aligned}$$

which implies

$$u_*(t) > 0, \quad \text{for } t \in (0, 1). \quad (3.18)$$

Then, by (3.7)-(3.9) and (3.18), we get

$$\begin{aligned} u_*(t) + u_0(t) &= u^*(t) = (Tu^*)(t) \\ &= \int_0^1 G(t, s) f^*(s, u^*(s) - u_0(s)) ds + t^{n-1} g^* \left(\int_0^1 (u^*(s) - u_0(s)) d\theta(s) \right) \\ &\quad + (1 - t^{n-1}) h^* \left(\int_0^1 (u^*(s) - u_0(s)) d\zeta(s) \right) \\ &= \int_0^1 G(t, s) f^*(t, u_*(s)) ds + u_0(t) + t^{n-1} g^* \left(\int_0^1 u_*(s) d\theta(s) \right) \\ &\quad + (1 - t^{n-1}) h^* \left(\int_0^1 u_*(s) d\zeta(s) \right). \\ &= \int_0^1 G(t, s) f(t, u_*(s)) ds + u_0(t) + t^{n-1} g \left(\int_0^1 u_*(s) d\theta(s) \right) \\ &\quad + (1 - t^{n-1}) h \left(\int_0^1 u_*(s) d\zeta(s) \right). \end{aligned}$$

It follows that

$$\begin{aligned} u_*(t) &= \int_0^1 G(t, s) f(t, u_*(s)) ds + t^{n-1} g \left(\int_0^1 u_*(s) d\theta(s) \right) \\ &\quad + (1 - t^{n-1}) h \left(\int_0^1 u_*(s) d\zeta(s) \right), \quad 0 < t < 1. \end{aligned} \quad (3.19)$$

Thus, by (3.18) and (3.19), we assert that u_* is a positive solution of the BVP (1.1).

The proof is complete.

Acknowledgment

The authors are very grateful to the referee for her/his helpful comments. Project supported by the National Natural Science Foundation of China (10771212) and the Natural Science Foundation of Jiangsu Education Office (06KJB110010).

References

- [1] R.P. Agarwal, *Boundary Value Problems for Higher Order Differential Equations*, World Scientific, Singapore, 1986.
- [2] R.P. Agarwal, S.R. Grace, D. O'Regan, Semipositone higher-order differential equations, *Appl. Math. Lett.* 17 (2004) 201-207.
- [3] R.P. Agarwal, D. O'Regan, Multiplicity results for singular conjugate, focal, and (n,p) problems, *J. Differential Equations* 170 (2001) 142-156.
- [4] C. Bai, Q. Yang, J. Ge, Existence of positive solutions for boundary-value problems for singular higher-order functional differential equations, *Electronic Journal of Differential Equations*, vol. 2006(2006), No. 68, pp. 1-11.
- [5] D.Y. Bai, Y.T. Xu, Positive solutions and eigenvalue intervals of nonlocal boundary value problems with delays, *J. Math. Anal. Appl.*, 334 (2007) 1152-1166.
- [6] Paul.W. Eloe, B. Ahmad, Positive solutions of a nonlinear n th boundary value problems with nonlocal conditions, *Appl. Math. Lett.* 18 (2005) 521-527.
- [7] P.W. Eloe and J. Henderson, Singular nonlinear $(k, n - k)$ conjugate boundary value problems, *J. Differential Equations*, 133 (1997) 136-151.
- [8] D. Guo, V. Lakshmikantham, *Nonlinear problems in abstract cones*, Academic Press, Orlando, FL, 1988.
- [9] X.A. Hao, L.H. Liu, Y.H. Wu, Positive solutions for nonlinear n th-order singular nonlocal boundary value problem, *Boundary Value Problems*, vol. 2007, Article ID 74517, 10 pages, 2007, doi:10. 1155/2007/74517.
- [10] D. Yang, H. Zhu, C. Bai, Positive solutions for semipositone fourth-order two-point boundary value problems, *Electronic Journal of Differential Equations*, 16 (2007) 1-8.

(Received October 30, 2007)